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Note :— Attempt five questions in all, selecting one question from
each unit. |

UNIT—I
I. - Discuss brieflyl the importance of operation Research in Decision
making.
II.  Solve the LPP:
Z (Max) = 4x + 3y + 5z — 150
subjectto : 2x + 3y + 2z < 400
3x + 2y + 2z <350
X +4y + 2z <300

where X, y & z2 0
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Witie the ual :
2 (Max) = x, + X,

sub to !

where X,. X, 18 unrestricted in sign.
UNIT—II

[V. Given the revenue and cost data below, obtain which produyct each
plant should produce to maximise profits :
Sale revenue
(Product)
1 2 3 4

49 (60 |45 |61
55 |63 |45 | 69
52 |62 [49 |68
55 |64 |48 | 66

o|Q|w| >

(Plant)

Production Cost
(Product)
1 2 3 4

30 |40 [ 33 | 45
35128 (3137

(Plant)
olo|wo|>
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Test the optimality of following transportation problem :

PI’OjL‘L‘l-,‘\. ijccl—l3Fl‘r0jcct*(? Plant capacity
Plant W 4 GO 8 8 56
Plant X 16 @4 24 (ié b 16 82
Plant Y 8 16 GO| 24 @D 77
Total Required | 72 102 41 |215 —~—2b

Total associated cost as per above allocations by NWCM is

Rs. 3624.

UNIT—III
Draw the network diagram & calculate floats.
Event |1-2(1-3|1-4{2-5|3-7|4-6 |5-7 |5-8 |6-7 [6-9 |7-10|8-10 [9-10
Duration| 10| 8 | 9 | 8 |16 | 7 |7 (6 |7 |5 | 12 13 15
(days) |

VII. Differentiate between PERT & CPM.

VIII. Why does the problem of replacement arise ? What is individual
and group replacement ? Which is economical ? Explain.

UNIT—IV

IX. Solvethe folloWing game, graphically :

B player
1 2 3 4 5
1 [ 5| 5] o -1 8
A player
player = 8 | -4 |-1 | 6] -5
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X. (@) Lxplainthe advantages and limitation of simlation

(b) Give the role of queuing theory indecision -making & diseye

its applications
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